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1- A piping system involves two pipes of different diameters (but of identical length,
material, and roughness) connected in series. How would you compare the (a) flow

rates and (b) pressure drops in these two pipes?
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2- A piping system involves two pipes of different diameters (but of identical length,
material, and roughness) connected in parallel. How would you compare the (a)
flow rates and (b) pressure drops in these two pipes?
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3- Pipe system carries water from reservoir and discharges it as free jet. Calculate the
expected discharge through 200 mm steel commercial pipe with the fittings shown.

steel commercial
pipe throughout

2-90° elbows
K =0.40

»=.0113 X 10~* m?/s
p =999 kg/m?
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